SDD alignment

relative position between SDDs and target center

summary
- N
] Ax = -7£2 mm
cycle | : relative Ay = 0£2 mm
] Ax = -6x2 mm
cycle2 . relative Ay = 0£2 mm
\ Y,

17 Oct, 2007 H. Tatsuno



|pi- scattering run
run 56 and 57

cell flame cell flame
upstream ownstream
-70<z<-60

150

100

-50[

y-position (mm)

-100[—

| I. | | | | |- | | | | .I | I .I. 1~ 1 I..l | l- .I | |.| | | | | | | | 1 I. |
19950 100 50 0 50 100 150 19950 100
x-position (mm) x-position (



Graphical estimation of target center
using cell flames
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Relative position between SDDs and target center

SDD reglon 140<z<150
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Graphical estimation of

target center

using cell flames

pi+ scattering run
run 223 and 224
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Relative position between SDDs and target center
SDD reglon 140<z<150
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